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Question Number : 1 Question Id : 762857101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a passive type of electronic component?
Options :

762857401, % Transistor

762857402, % Photodiode

762857403, « Capacitor

762857404, % Vacuum Tube



Question Number : 1 Question Id : 762857101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr &7 @ Fla @1 ey (sawi=e) uoF, AT vor &1 g 82

Options :

762857401, % gﬁm (Transistor)

wier e (Photodiode)

762857402, *

J62857403. v TETRA (Capacitor)

faara s (Vacuum Tube)

762857404. #

Question Number : 2 Question Id : 762857102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of a resistor coloured Orange — Orange — Black — Brown — Violet would be:
Options :

762857405, % 2.2 kQ with a tolerance of +/— 0.1%

762857406, ¢ 3.3 k€ with a tolerance of +/— 0.1%

762857407. ¥ 33 kQawith a tolerance of +/— 0.1%

762857408, ¥ 330 KO with a tolerance of +/— 0.01%



Question Number : 2 Question Id : 762857102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR T-ATEN-ShTeT-$T-S1AT T H7 9fgdr e iRy 7 A 47 grem?
Options :

0.1% T TeH & T 2.2 kO

762857405, ® */

260857406, « - 0.1% Fr TeT F TY 3.3 kO
260857407 % +- 0.1% T T\ & TTY 33 kO

262857408, % +H- 0.01% Fr e & T 330 kO

Question Number : 3 Question Id : 762857103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following materials is NOT used in«capacitors?
Options :

762857409 % Ceramic disc with silver

762857410, % Teflon as dielectric

762857411, v COPPper plates

762857412, % Metallised aluminium applied on plastic film



Question Number : 3 Question Id : 762857103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 7 sa47 @ g agrdy &1 gater agr Far smar 82
Options :

=S IFT e & Bew

762857409. *

WHegd & T H T

762857410. *

762857411. ¥ SIERCT I

I m TR foger TegHifeaa
762857412, % e I Ther T SEaT T 4T ifcaeh T

Question Number : 4 Question Id : 762857104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a type of IC package?
Options :

762857413, % DSP

762857414, * QSP

762857415, ¢ QEP

762857416, % STP

Question Number : 4 Question Id : 762857104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T 7 ¥ &7 9 & 91 & IC TS5 &7
Options :
762857413, % DSP

762857414, ¥ QSP

762857415. ¢ QFP

762857416, % STP

Question Number : 5 Question Id : 762857105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a typical manufacturing fault?
Options :
762857417, % wrong IC

762857418, % Defective component

762857419, v Solder bridge

762857420, % Faulty cable

Question Number : § Question Id : 762857105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fr 7 @ #ia @ o wmor Bfadr i 72
Options :
762857417, % Teid 1C

aryuT e

762857418, %

762857419, v TIosT &=

FrequT FHael

762857420, ¥ = ™

Question Number : 6 Question Id : 762857106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The meaning of In-Circuit Testing is:

Options :

760857421 v checking each component on the PCB while it is in circuit

760857420 % checking components before soldering

762857423, % checking circuit before soeldering

760857424, % testing overall'working of the circuit

Question Number : 6 Question Id : 762857106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SA-Afehe IAETOT (In-Circuit Testing) =T FaT 3N ar g2

Options :

762857421.\-;/PCB#Wﬁmﬁmﬂmmmﬁmm

TS & 93 Teaht $r A= HEAT

762857422, %

Treser & g a9y & S ST

762857423, %

qiyaer Fr I FAFOTET FH1 IIET0T FHIAT

762857424, %

Question Number : 7 Question Id : 762857107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The deflection in AC instruments is:

Options :

760857405, % proportional to the current or voltage under measurement

760857426, % clectromagnetic induced currents for their operation

760857427 % proportional to the square of current or voltage under measurement

760857428 Proportional to the frequency of current or voltage under measurement

Question Number : 7 Question Id : 762857107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AC #ATIZET F feigor 2T gl

Options :

AT ST JTell 9T T Sleds & A

762857425, *

3% gETe & fow ega ged aRa are
762857426, % c

mmmwmmaaﬁﬁw‘cﬁ

762857427, %

AT ST Aol 9T I7 SiedsT 1 Hgled & FATGIE!

762857428. ¥

Question Number : 8 Question Id : 762857108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Damping force necessary to damp out the oscillations'in measuring instruments CANNOT be produced by:
Options :

762857429 % air friction

762857430, % eddy currents

762857431, ¥ fluid friction

762857432, « metal friction

Question Number : 8 Question Id : 762857108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ATTIET J SrdAar o Uhad & T 31999F 37983 97 (Damping force) 5= & @ Bras SarT 3ca+4
7er forar =1 Hear 27
Options :

arg =eoT

762857429, % -

762857430, % HIT YRIT

62857431, % S EHOT

g9

B!
762857432, ¥ =

Question Number : 9 Question Id : 762857109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a disadvantage of a moving iron type measuring instrument?
Options :

760857433 v 1t suffers from eddy current and hysteresis error

762857434, % 115 cheap

760857435, % U pply is given te.a fixed coil, not in moving coil

762857436, % It has less friction error

Question Number : 9 Question Id : 762857109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A= 7 @+ @ 79 &g 91w (moving iron type) & ATTIT Fr gl &2

Options :

gH #Y 9 ve Afdew gfewr Algg @ €

762857433, ¥

762857434, % T€ TECT BT &

saH fega aqfa TR Fsar 7 & S g, 99 e A Ael

762857435, #

TS O9UT I FH A 7

762857436. #

Question Number : 10 Question Id : 762857110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dynamometer type wattmeter:
Options :
760857437 % cannot be used for DC systems

762857438 % Cal be used for AC systems

760857439, % Cannot be used for AC and DC systems both

760857440 ©al be used for AC and DC systems both

Question Number : 10 Question Id : 762857110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SITAAIART Y F dAEHET & T H SJ5 T FiT I Tar 272

Options :

g0 DC gunferat & 39T A1 BT ST Tahar &

762857437, #

¥ AC yonfergt & 39aier Bar o gar §

762857438, *

s AC 3R DC, grar yunforal & 393 a1 &Far =T Tar &

762857439, #

762857440, ¥ AC 3R DC, 2TAT JUTTerar & I9IreT T =T -Zq?h_rlT%'

Question Number : 11 Question Id : 762857111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Space charge potential or barrier potential in a diode is:
Options :

762857441, ¥ 0.7v for Ge and 0.3v for Si

762857442, ¢ 0.7v for Si and 0.3v for Ge
762857443, ¥ 0.5v for Si and 0.3v for Ge

762857444, ¥ 0.7v for Ge and 0.5v for Si

Question Number : 11 Question Id : 762857111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SIS H 3{ay 7199 99 (Space charge potential) 3r2ET 399 9= (barrier potential) =T g1ar 87

Options :

762857441, % Ge ¥ BT 0.7v 3T Si & BT 0.3v
60857440 Si & AT 0.7v 3T Ge F BT 0.3v
762857443, % O & forT 0.5v 3T Ge & forw 0.3v

160857444, % Qe & BT 0.7v 3k Si & BT 0.5v

Question Number : 12 Question Id : 762857112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The I-V characteristics of a power diode for large forward current is:
Options :

762857445, ¢ linear

762857446, % Parabolic

762857447, % sinusoidal

762857448, % saw tooth

Question Number : 12 Question Id : 762857112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 37 9T % 6T 99T S1AE F |-V 3fEeeor g gl




Options :
262857445, ¥ @+ (linear)

qadae (parabolic)

762857446. #

FITEHIT (sinusoidal)

762857447, %

J62857443, % HRIGC (saw tooth)

Question Number : 13 Question Id : 762857113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the current through the Zener diode (V.= 5.1 V) for the given value of load

resistance of 1 KQ when series resistance is 500 Ohms and source voltage is 15 V.
Options :
762857449, % 1.47mA

762857450, ¢ 14.7 mA
762857451, % 1.4TA

762857452, % 1.0 mA

Question Number : 13 Question Id : 762857113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Aof gfaRrer 500 Ohms 3T &9 Jieear 15 V 89 W), 1 KQ & BT 71T A Iar 89X 9fai & @{w
AT = (V, = 5.1 V) ¥ g 9aTfed gl el 9RT &7 #Ald AT HIaAT]

Options :

762857449, % 1.47 mA

762857450, ¢ 14.7 mA

762857451, % 1.47 A

762857452, % 1.0 mA

Question Number : 14 Question Id : 762857114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a junction field effect transistor (JFET) a channel through which current flow takes place is:
Options :

762857453, « fabricated in the device

762857454, % external to the device

762857455, % created by external cuirent

762857456, % e€xists in the absence.of external bias

Question Number : 14 Question Id : 762857114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ST $reg ghae ifereeT (JFET) #, a8 =¥, 50T o & 9918 2T &, grar 2l

Options :
762857453, ¥ SAh{U 7 fafad

762857454, % 3TN & WTET

762857455, % e d HNT AN Scdew

e FfEafa & seuidufa & Aisg

762857456, %

Question Number : 15 Question Id : 762857115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a feature of FET?

Options :

760857457 & Gate (G) terminal controls the current flow between source (S) and drain (D)

760857453 % FET can be thought of as an inductance connected between S and D

760857459 % Ihe mechanism of gate control is same in different types of FETs

760857460 % FET can be thought of as capacitance connected between S and D

Question Number : 15 Question Id : 762857115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o= # @ =i9 o FET &7 F9war 272

Options :

» 2 (G) fFaer, I (S) 3R 37 (D) F 97 urT F yarg A FIRT Far

762857457.

Jeag5745 « FET @1 S X D & @9 gOfod SRehcd & TA THST 51 Thal &

&= 91 & FET & ¢ AT3or $r qumer v oA " 2 &

762857459. #

62857460, * FET @1 S 3R D % & wafog otRar & @A T 57 Fhell 8

Question Number : 16 Question Id : 762857116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the *Ohmic region’ of the MOSFET output characteristies:
Options :

762857461, % drain current is zero

762857460, % drain current is inversely propertional to Vg

762857463, ¢ drain current is proportional 1o Vpg

762857464, % drain current is constant

Question Number : 16 Question Id : 762857116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



MOSFET #13eqe #f&eeiol & 'Hidg &5 & !

Options :

rg57a6) % Faemg G (Drain Current) =2 LI

285746y % FOATE GRT (Drain Current), Vps & TUCHATIAT g §

762857463, THHIE EE (Elramn Coment); Vpg & FAGAT B §

762857464, % 31098 YR (Drain Current) BT | B

Question Number : 17 Question Id : 762857117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To turn OFF a thyristor, the anode current must be brought below and a reverse voltage must be applied for
a time larger than time of the device.
Options :

762857465, % holding current, turn on

762857466, ¥ holding current, turn off
762857467, % latching current, turn.off

762857468, % latching current, turn on

Question Number : 17 Question Id : 762857117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ATANEET T HF T & O, TAS 9nT & T FH g Jer ofeT #3910 &
THT T {9+ THT & TOIT U 997 JiecH (reverse voltage) 3T TRIT ST =MRTI

Options :
162857465, % BIeSIT ORI, T 377

162857466, v BIeSIT ORI, T 370

J62857467. % TR ORI, T 3T

J62857468, % AT ORI, To 3T

Question Number : 18 Question Id : 762857118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a limitation of a practical thyristor?
Options :

760857469, % 1t turns on instantaneously after forward biased

760857470 1t takes some time to turn on after the application of the gating signal

760857471 % Lt tUrns on without gating signal

760857477 % 1t turns off if gating signal is removed



Question Number : 18 Question Id : 762857118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o= 7 ¥ #ig Or v gafiet & g3 82

Options :
162857460, % TE T AT gl & G Aol T g ST &

Wﬂﬁﬁ?ﬂﬂmﬁ?ﬁ?ﬁmﬁ#maﬁﬂﬁﬁﬁ@aﬁﬁq ST 7

762857470. ¥

857471« TE e FEIAe F R A g Ser €

762857472, # AfeeT Tl g X Tg HH & AT g

Question Number : 19 Question Id : 762857119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A thyristor may turn on even without application of a gate signal when:
Options :

760857473 LAK falls to 0 and positive VAK is applied within turn off time
760857474, % LAK falls to 0 and negative VAK is applied within turn off time

760857475 % 1AK falls to 0. and negative VAK is applied within turn on time

760857476, % AK Isrising and negative VAK is applied within turn off time



Question Number : 19 Question Id : 762857119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Az favae 3RRE e e, gt #7r e =T J 3= & 57 gwar &2

Options :
857473 T IAK FEHT 0 g FME § AR e HIF TEA F HeT gAHF VAK JRITT f&ar e g

egs7474 x T IAK FEHT 0 g ST § AR T AHIF TEA F H HONcHAS VAK 3R famar smar 2

egs7a7s « % IAK FEHT 0 g 1T g AR o AT A F eI HOMeHAs VAK 3Rifaa frar smar 2

857476, % T IAK FF T FT § 3R T HTF TEH & X FOMHF VAK 3T fmar S g

Question Number : 20 Question Id : 762857120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of transistors used in one Darlington amplifier is:
Options :

762857477. % 1

I

762857478, ¥

L]

762857479. %

762857480. % 4

Question Number : 20 Question Id : 762857120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T =i TFEw H Fas aifeeer 39 e o 2
Options :

762857477, % 1

762857478, ¥ 2
762857479, % 3

762857480, % 4

Question Number : 21 Question Id : 762857121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of amplifier based on Input output variables?
Options :
760857431 % voltage amplifier

762857482 ¢ Trans-Inductance amplifier

762857483, % Trans-Resistance amplifier

762857484 % ‘current amplifier

Question Number : 21 Question Id : 762857121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fr 7 @ Fla @1 39 HETqE T W UG TFAIBIRIT F YHR T 87

Options :

76785748 % GTees TFCOITBIOY
62857450 @ STH-ZEFHCH (TR-ITehed) TF-ClThRR
Teossags, % TE-USEEH (TR-FTR)

762857484, % NI U4 AT

Question Number : 22 Question Id : 762857122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The function of differential amplifier is:
Options :
760857435« (0 amplify the difference in input signals

760857436, % 10 subtract two input signals

762857487, % 1O COMpare two input signals

760857433 % 10 add two input signals

Question Number : 22 Question Id : 762857122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



s vy (differential amplifier) T FaT 1 2ar 272

Options :

sy ATl & ’IT H gt FIAT

762857485, ¥ =

762857486, ® ar 319 fAeetell F cTEHiod H

762857487, # Eﬂ- e = o

ar gaqe faeeelr @ Sgar

762857488, #

Question Number : 23 Question Id : 762857123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Any amplifier can be converted to become an oscillator:
Options :
760857439 + With inclusion of positive feedback

760857490 % With inclusion of negative'feedback

760857491 % With inclusion of positive feedforward circuit

762857492, % with inclusion of level shifter

Question Number : 23 Question Id : 762857123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



BT TElmRR Y e (3ffeey) & F¥ ofEfia R o war §7

Options :
262857480« UTTcHe HIESS TETT Tk

262857400, % FOTcH Disdeh T& Hleh

260857491 % eITcHE BIF BRaEs IRIY T

260857490 % el TAFET TR

Question Number : 24 Question Id : 762857124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Colpitts oscillator is a type of:
Options :

762857493 % RC oscillator

762857494 % OPAMP oscillator
762857495« LC oscillator

760857496, % el Bridge oscillator

Question Number : 24 Question Id : 762857124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ferg Aol e F ¥ BFEa v TR &7



Options :

762857493, % RC HifHereX
762857494, * OPAMP 37If&erex
762857495, v LC 3TT&eIeY

762857496, % o1 TSIl HITHOIEY

Question Number : 25 Question Id : 762857125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ring Oscillator (Square wave generator) can be implemented using;
Options :

762857497, % series of AND gates

762857498, ¢ series of odd numbers of inverters
762857499 % series of even numbers of iaverters

762857500, % Series of OR gates

Question Number : 25 Question Id : 762857125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A &7 o g 9o #3F R F1ffee (TR 39 Jai)) & &1 &ar 37 g&ar 272

Options :




762857497, % AND T FHr Sofr

 TEe Fr v F@Er arer Suf

762857498.

SHATERT T TH TEAT JreiT AUl

762857499. %

762857500, * OR 1€ T Aofr

Question Number : 26 Question Id : 762857126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The gate useful in controlled adder/subtractor is:
Options :

762857501, % AND

762857502, # NOT
762857503, ¢ XOR

762857504, ¥ NOR

Question Number : 26 Question Id : 762857126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmafya o=/ 3o (controlled adder/subtractor) & T e @1 3udeT fFar =T 22
Options :

762857501. % AND



762857502, % NOT

762857503, ¢ XOR

762857504, % NOR

Question Number : 27 Question Id : 762857127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gates which are represented by DeMorgan's Theorem are:
Options :

762857505, % AND and OR

762857506. ¥ XOR and XNOR
762857507. ¢ INAND and NOR

762857508, ¥ INOT and AND

Question Number : 27 Question Id : 762857127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR AR R e S T e A @

Options :
762857505, * AND 3 OR

262857506, % XOR 3 XNOR



262857507 v NAND 3T NOR

260857503, % NOT 3R AND

Question Number : 28 Question Id : 762857128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How is 2.625 represented in binary?
Options :

762857509. ¢ 10.101

762857510, % 10.1001111101
762857511, ¥ 10.11010101

762857512, % 10.11001

Question Number : 28 Question Id : 762857128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2.625 T STIHTUTY (STSa1T) TEAT H Fg 9o S2iam Feem?

Options :
762857509. ¢ 10.101

762857510, # 10.10071111101

762857511, # 10.11010101



762857512. % 10.11001

Question Number : 29 Question Id : 762857129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Write decimal equivalent of the octal number 2371.
Options :

762857513, % 2371

—_
S
|
ad

762857514, ¢
762857515, % 5239

762857516, ¥ 625

Question Number : 29 Question Id : 762857129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T (3TeFeen) HET 2371 & FAGeD guHAeE (SHIAW) FEAT A1d ST
Options :

762857513, % 2371
762857514, 1273
762857515, % 9239

762857516, % 625



Question Number : 30 Question Id : 762857130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a DC series motor is accidentally connected to a single phase AC supply. the produced torque will be;
Options :
760857517  Pulsating and unidirectional

762857518, % pulsating and bidirectional

762857519, # ZEIO

760857500, % Oscillating

Question Number : 30 Question Id : 762857130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T DC #uft A & 7Tedr ¥ fierer ¥ AC Toeng & @Ot fhar S1ar g, af 309w Sareor &2
Bremm?

Options :
762857517, ¥ TaeHAT (pulsating) 3 T (unidirectional)

762857518, # I +[EJIIEF (pulsating) iR ﬁﬁﬁ?ﬁ? (bidirectional)

A
762857519, ®# =

762857520, % arerereiTer (oscillating)



Question Number : 31 Question Id : 762857131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State of constant losses are equal to variable losses, in DC motor means condition of:
Options :
760857571 % minimum efficiency

760857500« Maximum efficiency

760857523, % >0 %o efficiency

0. . ;
762857504, % 100 %0 efficiency

Question Number : 31 Question Id : 762857131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DC AT #, §ad giadl & INadd¥ giiaar & SUst g $I 3T &l &8 § hw By & Haea
ATAT AT &2
Options :

762857501 % °AcH aildl

260857507« ATOhdH GETCT
0
762857523, % 90% GBI

762857524, % 100% G&TAT



Question Number : 32 Question Id : 762857132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct statement with reference to a simple starter of a DC motor.
Options :
162857525, ¥ External resistance R, is connected in series with the armature

767857506, % External resistance Ry, is connected in parallel with the armature

162857507 % External resistance Ry, Is connected in series with the field

76285750g % lnternal resistance Ry, reduces the starting current

Question Number : 32 Question Id : 762857132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DC AeT F A9 Ty & "HesT H Hal FY7 F T30 FL

Options :

762857525#mmHextﬁm#mMmﬁmﬁamm%

o % TEG FERIY Ry &I W & TY FAR HH F FAT & =mar &

76285752

« TET G Rey 31 ez & @1y Aol 7 & Faifea fmar Srar &

762857527.

HTARF FfRIT Ry 90 ORT (starting current) 1 53 FIaT 8

762857528, %



Question Number : 33 Question Id : 762857133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following devices is represented by given symbol?

Anode Dl Cathode

Options :
762857529 % Zener diode

762857530, ¢ Tunnel diode

762857531, % Schottky diode

762857532, % Triac

Question Number : 33 Question Id : 762857133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A= fear 3 g e 39T S gelar &7

Arode u Cathode

Options :

762857529, % SN SIS

760857530« &eTel SIS



762857531, % 2MTEERT SIS

762857532, % <

Question Number : 34 Question Id : 762857134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the given symbol represent?

1
=]
]
P

Z = 2

Options :
762857533, # TRIAC

762857534, ¢ SCR

762857535, % UJT

762857536, ¥ MOSFET

Question Number : 34 Question Id : 762857134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A= 3 T ydes FE 39eRToT #r gear 272

Tz 10—

—_—Z 2

Options :
762857533, % TRIAC

762857534. ¢ SCR

762857535, % UJT

762857536, # MOSFET

Question Number : 35 Question Id : 762857135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which device does the given symbol represent?

B2
.(Basez]
=
(Emitter)
By

®(Base)



Options :
762857537, % BIT

762857538, % MOSFET

762857539, « UJT

762857540, % JFET

Question Number : 35 Question Id : 762857135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3 Tar ydes FE 39eRIoT #r gRiar 272

B2
P (Basey)
E
(Emitter)
B1
®(Base)
Options :

762857537. % BJT

762857538, % MOSFET

762857539, ¢ UJT



762857540, % JFET

Question Number : 36 Question Id : 762857136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which device does the given symbol represent?

Options :
762857541, % Buffer

762857542, % NOT gate

o I T
760857543, % = loput NOT gate

762857544 « Lristate Buffer

Question Number : 36 Question Id : 762857136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3 7T e | 39T #r gRrEr 272

Options :



762857541, % BT

762857542, % NOT I

762857543, % 2 = NOT %12

762857544, ¥ T :

Question Number : 37 Question Id : 762857137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true about Freewheeling Diode?
Options :

760857545« 1t reduces harmonics and suppresses the voltage spikes in inductive load

762857546, % It is free from harmonics
762857547 % It is used in forward biased mode

762857548 % It is in series with inductive load

Question Number : 37 Question Id : 762857137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HregiforeT s F e 7 g 5 ¥ #i9 &1 FFeT g7 72

Options :
762857545, ¢




7 gTAfATE Fr F7 Far § 3 RO a1 7 Seedr ARy (voltage spikes) 7 T 3am §
Ig FAMAFE § Had g ¢

762857546, *

857547 % SHHT FUART H HfFFT (FIFE FITS) A FH BHAr Aew 7

7€ WO &% & @y Aof 87 & 51 T ¥

762857548 #

Question Number : 38 Question Id : 762857138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the equivalent reduced expression for
A'BC+AB’C + ABC’ + ABC:

Options :

762857549. ¢ BC TAC +AB

762857550. % AB'+C

762857551, ¥ B'C~AB

762857552, ¥ AB+C°

Question Number : 38 Question Id : 762857138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ABC + AB'C + ABC’ + ABC % Jo Wfered =iisis AT |
Options :




762857549, ¢+ BC + AC + AB

762857550, % AB’ + C
762857551, * B'C + AB

762857552, % AB + C

Question Number : 39 Question Id : 762857139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many 2 input NAND gates are required to make a 3 input NAND gate?
Options :
762857553, %

I~

fad

762857554, ¥

762857555, % 4

rn

762857556. ¥

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 39 Question Id : 762857139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 $79¢ NAND 12 a1t & T farder 2 $a79¢ NAND 312t &1 3maedshdr gidr 872

Options :



762857553, % 2
762857554, ¢ 3
762857555, % 4

762857556 ¢ O

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 40 Question Id : 762857140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which device does the given symbol represent?

A
—

out

B
—

sel
Options :
762857557, % Adder

762857558 % Subtractor

762857559, v Multiplexer

762857560. % Decoder



Question Number : 40 Question Id : 762857140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T ar v E 39euT Fr gRnar 27

A
—
out
B
—
se|
Options :
762857557, % I (Adder)

oS (Subtractor)

762857558, #

62857550, v FeeTeFET (Multiplexer)

fBersT (Decoder)

762857560. *

Question Number : 41 Question Id : 762857141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an active type of electronic component?
Options :

762857561, % Resistor

762857562, % Inductor



762857563, % Antennas

762857564, + Phototransistor

Question Number : 41 Question Id : 762857141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 @ FlF @ vF yoR w1 wfFT fBega gew B2

Options :

760857561, % FTaIe
762857562, % I

762857563, # T

762857564, ¢ TIelgllaiies

Question Number : 42 Question Id : 762857142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT used for component testing?
Options :

762857565, ¥ Multimeter

762857566. % IC tester

762857567. ¥ Funetion generator



762857568. # CRO

Question Number : 42 Question Id : 762857142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fm 7 & formerr 3uaRT g & T{ET0T (component testing) & forT @ fFam swar 27

Options :

762857565, * HoCTHER

762857566, % 1C TFX
762857567, @ PRAA ALY

762857568. % CRO

Question Number : 43 Question Id : 762857143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be tested with multi-meter?
Options :

760857569 v 43 short-circuit within the capacitor

762857570, % Leakage ina capacitor

760857571, % Chargestored on a capacitor



762857572, % Value of capacitor below 1puF

Question Number : 43 Question Id : 762857143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TedHeT arT e 7 ¥ frmer et R &1 gear 82

Options :
T 7 gy
762857569, ¥ 2

762857570. % HH £ " &T{U

62857571, % TR H WIGIT A1

~ THF 7 &H AT Jrer TUTRT FT AT
762857572, %

Question Number : 44 Question Id : 762857144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which if the following measuring instruments is connected in series with circuit to get the readings?
Options :

762857573, % Voltmeter

762857574, % TIeqUEnCy meter

762857575, « Ammeter



762857576, % Power factor meter

Question Number : 44 Question Id : 762857144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

far & ¥ 5 AT99F FF 9IadiF 9T #e & T 99y ¥ Oy 4t w7 § gofee G e &2

Options :

762857573, % STeTHIET

762857574, % L
762857575, ¥ THIER

ofFa aures AT (FTaT et Hie)

762857576. %

Question Number : 45 Question Id : 762857145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The I-V characteristics of a diode is not a straight line because:

Options :

762857577, % Its resistance is same in both forward and reverse directions
762857578, « Its resistance is different in the forward and reverse directions

762857579 % Its resistance is zero

762857580, % Its resistance is infinite



Question Number : 45 Question Id : 762857145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEtE & |-V 3ifReerr a3 W #7476 g 22

Options :

SHFT AU EETHT 3T T=ETAr ST & st & A ger &

762857577. *

o TEFT ARy IEETAT AR Tememer g emst & e gar #

762857578.

SHET Ty T BT &

762857579, %

762857580. # AL Hed Eﬂ?ﬂ. %

Question Number : 46 Question Id : 762857146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the current through the Zenerdiode (V,= 7.9 V) for the given value of load resistance of 1 KQ when the

series resistance is 1.2 KQ and source voltage is 24 V.
Options :
762857581, ® 3.5

I

A

1]

762857582, % 55.2 mA

762857583, ¢ .52 mMA



762857584, % 552 mA

Question Number : 46 Question Id : 762857146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aol gy 1.2 KQ 3N @g aeear 24 V @9 W, 1 KQ & BT 717 A are 91 9oy F fw e
s (V, = 7.9 V)T 2 9aTfed g Tl o & AT AT SHI=T|

Options :

762857581, % 5.92 A

762857582, % 99.2 MA

762857583, ¢ 9.52 mA

762857584, % D552 MA

Question Number : 47 Question Id : 762857147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a characteristic of MOSFET?
Options :
760857535 % A MOSFET is a voltage-controlled minority carrier device.

760857536, v ‘+MOSFET is a voltage-controlled majority carrier device.

760857537 % A MOSEET is a current-controlled majority carrier device.



760857538, % ‘A MOSFET is a current-controlled minority carrier device.

Question Number : 47 Question Id : 762857147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o= # @ #i9 @1 MOSFET &7 Us HHereor g7

Options :

62357535« MOSFET Ueh aTeesT Hhgles AN $HiaX Barsw &
Seas57536.  MOSFET T dleee #heles AAMNE SN 3asd &

2557537 %« MOSFET, Ts HIT - Hgles AANE Hay 3988 §
J62857535. * MOSFET, T &Y€ - Feles ASAING HRAX Bamsd &

Question Number : 48 Question Id : 762857148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A thyristor can be turned ON by applying a forward voltage greater than forward voltage or by injecting a

gate current pulse under forward bias condition.

Options :
762857589, % break over, negative

760857500, % Vvalley. positive

762857591, v Dreakover, positive



762857592, % Valley. negative

Question Number : 48 Question Id : 762857148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

araEET F ¥ 3O 77 Seee WRINE & o 3 Wi R s e
AT 9T I (gate current pulse) SFT 3HTF AT I HeRaT B
Options :

762857589, % S 3T, HUMHF

262857590, % I (valley), O=ITcHF

762857591, ¢ S AT, adATcHF

762857592, % el (valley), FOTcH®

Question Number : 49 Question Id : 762857149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following device is NOTused for amplification?
Options :

762857593, ¥ MOSFET

762857594, % BIT

762857595, @ TRIAC



762857596. ¥ OPAMP

Question Number : 49 Question Id : 762857149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A= 7 ¥ @ 39907 7 39AET 9999 (amplification) & forw F&T fasar smar 272
Options :
762857593, * MOSFET

762857594, % BJT
762857595. ¢ TRIAC

762857596, % QOPAMP

Question Number : 50 Question Id : 762857150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a widely used operational amplifier?
Options :

760857597 % Current amplifier

760857598 voltage amplifier

762857599, % Trans-conduectance amplifier

762857600, % Trans-resistance amplifier



Question Number : 50 Question Id : 762857150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7 O &9 O 9% 9 § 39317 TRIT e ST TR TESEIRTaT g2

Options :

762857597, % HRT T3 AT

767857508« AToeS TFCIHTAT
62857500 % STH-hSFCH (TR-TTelehed)

J62857600. % STH-ISIECH (TR-HTCRIY) TERlHRER

Question Number : 51 Question Id : 762857151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hartley Oscillator is a type of:
Options :

762857601, ¢ LC oscillator

762857602, % OPAMP oscillator
762857603, % RC oscillator

760857604, % Wveil bridge oscillator



Question Number : 51 Question Id : 762857151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Ty T 7 ¥ 58 & 91 272

Options :

762857601, v LC HITHIE

762857602 * OPAMP 37If&erex
762857603, * RC AR

762857604, % o1 TeheT HTfHoIER

Question Number : 52 Question Id : 762857152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a full adder is implemented using half adders, the additional gate required is:
Options :

762857605. ¢ OR

762857606. ¥ AND

762857607. ¥ XOR

762857608. ¥ XNOR

Question Number : 52 Question Id : 762857152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& 39 ArAert (half adder) T 393197 ¥ 90T T=es (full adder) & & o =t 8, aF &F
=g i Fr 3EeTFar gar 27

Options :

762857605. ¢ OR
762857606, ¥ AND

762857607. ¥ XOR

762857608. % XNOR

Question Number : 53 Question Id : 762857153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the decimal equivalent of the octal number 45177
Options :

762857609. ¥ 412

762857610, ¢ 2383
762857611, % 3712

762857612, % 3923

Question Number : 53 Question Id : 762857153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ST (3TeFee) TEAT 4517 F Jod aurEes (SEHE) FEAT i A 2

Options :
762857609, % 9412

762857610. ¢ 2383

762857611, % 3712

762857612, % 3923

Question Number : 54 Question Id : 762857154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which device is represented by the following symbol?

Anode Cathode

Options :
762857613, ¥ Zener diode

762857614, % Tunnel diode

760857615, v Schottky diode

762857616, % Triac

Question Number : 54 Question Id : 762857154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A 3 Tar ydes FE 39eRIoT #r gRiar 272

Anode Cathode

Options :

762857613, % SN SRIE
762857614, % EeTel SIS

762857615, « 2NTEeRT SIS

762857616. % &

Question Number : 55 Question Id : 762857155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is hexadecimal equivalent of the actal mumber 23477
Options :

762857617. % 2347

762857618. ¥ 2E7
762857619, % E47

762857620, ¢ 4ET



Question Number : 55 Question Id : 762857155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR (3HToee) TEAT 2347 & Jod FUETOHA HEdr Hia | 82

Options :
762857617, % 2347

762857618. % 2E7
762857619, % E47

762857620. ¢ 4E7

Section 2
Section Id : 76285716
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 45
Number of Questions to be attempted : 45
Section Marks : 45
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 76285754
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 76285756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who was sworn in as the Chief Minister of Jharkhand in December 20197
Options :
762857221, % Babulal Marandi

762857222, % Shibu Soren
762857223, % Madhu Koda

762857224, + Hemant Soren

Question Number : 56 Question Id : 76285756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr 7 @ frma fowaT 2019 7 oIRWs & AETHAT & & H A9 JFT H?
Options :
762857221, % N

R W

762857222, *

g T

762857223, %

762857224, ¥ g T R

Question Number : 57 Question Id : 76285757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which state government has launched the Arundhati Gold Scheme in India?
Options :
762857225, % Bihar

762857226, ¢ Assam

762857227, % vest Bengal

762857228, % Delhi

Question Number : 57 Question Id : 76285757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRT ¥ BT T & TR J 30Uty TI0T dierer 3T dr 37

Options :

762857225, % [ECIES

762857226, ¢ A

760857277 % GTEH Ml

762857228, % iEE@I

Question Number : 58 Question Id : 76285758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country successfully launched its largest carrier rocket named Long March-5 in December 20197



Options :

762857220, % Japan
762857230, % Russia
762857231. ¢ China

762857232, % UK

Question Number : 58 Question Id : 76285758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fegst 2019 & 5@ gor & o7 A -5 FATHF HIT TIY 52 HIXAT Uhe H Thel FarqoT & g2
Options :

762857229, % SATdlel

762857230, % ®©H

762857231, ¢ HIS

762857232, * CEC

Question Number : 59 Question Id : 76285759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following important books did Kautilya write?
Options :

762857233, % Indica



762857234, % Samaveda
762857235, « Arthashastra

760857236, % Mahamaya

Question Number : 59 Question Id : 76285759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FifceT & i H Ageaqur JFae fordr A7

Options :

762857233, # ‘
762857234, % 8 Jlaa

762857235, v STURATER

762857236. # Gegl

Question Number : 60 Question Id : 76285760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Monopolies and Restrictive Trade Practices (MRTP) Act, 1969 was repealed to give way to the , 2002,
Options :

760857237 % SickIndustrial Companies Act



760857238, % Sick Textile Undertakings (Nationalisation) Act

760857039 % Recovery of Debts due to Banks and Financial Institutions Act

760857040, « ‘Competition Act

Question Number : 60 Question Id : 76285760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIHT v gfagus =g (MRTP) sfafaas, 1969 (Monopolies and Restrictive Trade Practices
(MRTP) Act, 1969) r , 2002 T AT 9AET F F e Freg &7 T3 @ an
Options :

0T HiehifEe w9 AT

762857237, %

62857238, % TIUT FUS-3UHA (TeErgeRon) et

dot vF facdw Tyl & RO HOT F Iger AofEas

762857239. #

762857240. ¥ giaeadr sfafaas

Question Number : 61 Question Id : 76285761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kuchipudi dance form traces its origin to the state of:
Options :

762857241, % Kerala



762857242, % Manipur

762857243 « Andhra Pradesh

762857244, % Odisha

Question Number : 61 Question Id : 76285761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRTEr 737 A Fr seatea TSI ES R

Options :

762857241, % e

762857242, % 2
762857243, v FTST Fe=A

762857244, % TSR

Question Number : 62 Question Id : 76285762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India holds the first pesition in the world in producing which of the following fruits?
Options :

762857245, v Fapaya



762857246, % Orapes

762857247, % Orange

762857248, % Apple

Question Number : 62 Question Id : 76285762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T # @ &8 B & 3c9ed & AH # 6RT 997 & 98 2T 97 &7
Options :

762857245. ¢ 9 I

762857246. * g

762857247, % L

760857248, % TE

Question Number : 63 Question Id : 76285763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where did King Rana Kumbha built the Vijay Stambh?
Options :

762857249, % Jodhpur



762857250, v Chittorgarh

762857251, % Mandu

762857250, % Kumbhalgarh

Question Number : 63 Question Id : 76285763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O FHET A faerT TFsT v AT e Farar ar?
Options :

762857249, # =

762857250. ¢ rered =N

L HIS
762857251, # o

762857252. % =

Question Number : 64 Question Id : 76285764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word ‘tsunami’ traces its origin to the language.
Options :

762857253, % German



762857254, % Fortuguese

762857255,  Japanese

762857256, % Chinese

Question Number : 64 Question Id : 76285764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GATAT (tsunami)' ereC T FHF AT ¥ Ycded A H Tl TAdT gl
Options :

762857253, % e

qeeTTel

762857254, % 2

762857255« SATIATAT

762857256, % ==l

Question Number : 65 Question Id : 76285765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following national parks is NOT situated in Rajasthan?
Options :
760857257 % Sariska TigerNational Park

762857258, % Keoladeo National Park



762857259 « Kanha National Park

762857260, ¥ Ranthambore National Park

Question Number : 65 Question Id : 76285765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 7 @ FiF o1 8T 35T g9 7 g a9 8

Options :

762857257, * il ﬁ g

762857258, # HaeIes T 36T
762857259, ¢ Treel U ST 3eT

762857260. * g g

Sub-Section Number : 2
Sub-Section Id : 76285755
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 76285766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the energy possessed by an object of mass 20 kg when it is at a height of 6 m above the ground.

(Giveng=10m 572)
Options :



762857261, % 1207
762857262, ¢ 1200 ]
762857263, % 120 W

762857264, % 1200 W

Question Number : 66 Question Id : 76285766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 ¥ 6 m Fr Furg W AlSg 20 kg FEEAE e s N5 # Afga F w1 Hifaw
(Rrsr & g = 10 ms™?)

Options :

762857261, ® 120 J
762857262, « 1200 J

762857263, # 120 W

762857264, % 1200 W

Question Number : 67 Question Id : 76285767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The quantity of heat generated in a conductor does NOT depend on the:
Options :

762857265, % Square of the current



762857266, % resistance of the conductor

762857267, ¥ temperature of the conductor

762857268 % time for which the current flows

Question Number : 67 Question Id : 76285767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e aTeres § 3c9e FSAT ST AT 97 T AL & gl

Options :

ﬁ?{g?ramiav‘r

762857265. %

762857266, % el & wfcre

762857267« SNeleR o ATTHT

62857268, % URT T8 & HAL

Question Number : 68 Question Id : 76285768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An object that is 8 cm in size, is placed at 20 cm in front of a concave mirror of focal length 15 cm. At what distance in
front of the mirror should a screen be placed in order to obtain a sharp image?
Options :
762857269. % 30 cm



762857270, % 40 cm
762857271, % S0cm

762857272 « 60 cm

Question Number : 68 Question Id : 76285768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 cm &R AT Ueh & & 15 cm BIHH gJT aTel 3aael g9oT e | 20 cm & g 9 I@T 7T gl
TTee fafes ova &= & v B & guor ¥ FFaet gfr W @r e =nfge?

Options :
762857269. % 30 cm

762857270. % 40 cm
762857271, ¥ 90 cm

762857272, 60 cm

Question Number : 69 Question Id : 76285769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Compounds with identical molecular formula but different structures are called:
Options :

762857273, % 1SOLOPES



762857274, « Isomers
762857275, % isobars

762857276, % isotones

Question Number : 69 Question Id : 76285769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA 3T 4, ﬁﬁr e g=aT3tT arer iR Ft 4T FET Jar 82

Options :

gaTATA+ (isotopes)

762857273, %

TATFTET (isomers)

762857274, ¥

THANT (isobars)

762857275, %

762857276. % qH=ZgI =1 (isotones)

Question Number : 70 Question Id : 76285770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following selutions has pH 77
Options :

762857277, % Ammonium chloride



762857278, % Copper sulphate

762857279, ¥ Sodium carbonate

762857280, ¢ Sodium chloride

Question Number : 70 Question Id : 76285770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=@ 7 & &y Reus # dvg #@9 7 291 &2

Options :

FAFTH FaREE

762857277. %

762857278, ¥ ©plHx Hehe

762857279, % WISTH HIEl=C

762857280. ¥ ‘

Question Number : 71 Question Id : 76285771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following metals in the order of their decreasing activities.

Potassium, Gold; Magnesium, Copper
Options :



762857281, % Gold, Magnesium, Copper. Potassium

760857287 % Magnesium, Gold, Potassium, Copper

760857083, v Fotassium, Magnesium. Copper, Gold

762857084, % COPPer. Potassium, Magnesium, Gold

Question Number : 71 Question Id : 76285771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el argat @ 3afr gedr sfRfmedear & w7 F sgafdya w1

Options :

762857281, % Mes, A RIEH, R, qrefras

T60857080, % HIANATH, TMes, WNeRTH, H

762857283, ¢ qre AT, ﬁ??ﬁﬁmﬁ, mTqa, e

762857284, % PTIY, e AT, ﬁaa'ili'a“m::l, Mes

Question Number : 72 Question Id : 76285772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following hormones inhibit(s) growth in plants?



Options :
762857285, ¢ Abscisic acid

762857286, % Gibberellins

762857287, % Auxins

760857288, % Cytokinins

Question Number : 72 Question Id : 76285772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T # ¥ SiF @ gAla d9ut # Rerw # aftg #ar 82

Options :

767857085, « CEHITHh 3Fal
762857286, % SELielel

167857087 % HIEFHeT
762857288, % O SCIhIg (eied

Question Number : 73 Question Id : 76285773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following acids facilitates the action of the enzyme pepsin in human digestion?

Options :



762857289 % Nitric acid

762857290, % Sulphuric acid
762857291 ¢ Hydrochloric acid

762857292, % Benzoic acid

Question Number : 73 Question Id : 76285773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F=of@a # ¥ FiF I 357 A9 & 997 99 H UCHT F1H7® TAEH S GFar #3393 22

Options :

762857289. * lEi; ik
T 35T

762857290. *

767857001« BISSIFellI{eh &l

762857292. % " :

Question Number : 74 Question Id : 76285774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options have both the flowers bisexual?
Options :



760857293, % Fapaya and Watermelon

760857094 % Hibiscus and Papaya

762857295 % Watermelon and Hibiscus

762857296, ¢ Hibiscus and Mustard

Question Number : 74 Question Id : 76285774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefaf@a & @ 5w Rerew & T ov @ o7 seraferh & 82
Options :
762857293, # e o

762857294, # =2°

762857295, % o ="

=T U TIET
762857296, ¥ 2°

Question Number : 75 Question Id : 76285775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the change in the total energy of a body falling freely towards the earth?
Options :



762857297, % It will increase.
762857208, % It will decrease.
762857299 « It will remain the same.

760857300, % 1t Will increase initially and then decrease.

Question Number : 75 Question Id : 76285775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qod & F gt #1 3 R arelr a5g & $o F= # F1 IRFa= gem?

Options :

Seags oy % TEH & g

J62857208, % ST FHHT B

J62557200 v TEH IS TG LT FM)

. TT # gEA iR @l ARk R Fl Eem

762857300.

Sub-Section Number : 3
Sub-Section Id : 76285756
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 76285776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P’s salary is 2800 per month and Qs salary is 210,800 per annum. Find the ratio of P’s salary to Q’s salary.
Options :
762857301, % 23

762857302, ¢ 8:9
762857303, % 11:2

762857304, ¥ 6:9

Question Number : 76 Question Id : 76285776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P & Afa® 3T 2 800 § 3R Q 7 1M 3= 210,800 g1 P & 3a=T 3N Q & I & 36 A1
ETIE LI

Options :
762857301, % 2 = 3

762857302. ¢ & = 9
762857303, % 11 1 2

762857304, % 6 1 9

Question Number : 77 Question Id : 76285777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 40%% of a number is 40 less than 60% of that nuumnber, then the number is:



Options :
762857305, ® 600

762857306, % 400

762857307. « 200

—_

762857308, # 100

Question Number : 77 Question Id : 76285777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I FEr §GIT T 40%, 35 HEAT & 60% T 40 &F g, ar §EIT A FIiew]
Options :

762857305, % 600
762857306, % 400
762857307, ¢ 200

762857308. ¥ 100

Question Number : 78 Question Id : 76285778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Amit purchased a car for 2.00,000 and a bike for Z1.00,000. He sold the car at a profit of 10% and the bike at a loss of

10%. What is the net gain or loss?
Options :



7

;% loss
762857309, #

8

762857310, ¥ 3 %o profit

12
— % loss
762857311. % 5

10
— 04 profit
762857312, % 3 P

Question Number : 78 Question Id : 76285778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT 7 72,00,000 H T FX AT 71,00,000 F T a5F TS| 3T HT A 10% & o 9T AT
TS H 10% T g TR 97 7T 4= e @ g AT FiiSw

Options :

3% g

7]

762857309. #

g
—04 =
762857310, ¥ 3

12
?% QG

762857311, #

10
—% st
762857312. ¢ 3



Question Number : 79 Question Id : 76285779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ftrain runs at a speed of 90 km/h and crosses a 220 m long platform in 30 seconds. What is the length of the train?
Options :

762857313, # 750 m

762857314, # 320 m
762857315, ¢ 330 m

762857316, ¥ 240 m

Question Number : 79 Question Id : 76285779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 km/h & I T I T T ITEr 220 m & SEHhH Fr 30 The & 97 T AT g1 TEEmeEr
oaTs AT AT

Options :

762857313. % 790 m
762857314, % 320 m

762857315. ¢ 930 m

762857316, % 240 m

Question Number : 80 Question Id : 76285780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If P. Q and R together can finish a piece of work in 20 days. P alone can finish the same work in 40 days and Q in 50
days. then in how many days can R alone finish the work?

Options :

762857317, % 00 days

762857318, % S0 days

762857319, % 100 days

.l 7
762857320, v 200 days

Question Number : 80 Question Id : 76285780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifg P, Q 3T R ve @y Ao e &8 &t 20 f@s & 97 a% ¥ €, P 3reper 38 F19 #r 40 fo=

H 3T Q e 38 FI F 50 A T [ & THar g1 R 3 38 w1 # fhas g F U X Tl
22

Options :
762857317. % 60 EEI
762857318. % 80 EEI

762857319, % 100 f&aT

762857320, v 200 f&=



Question Number : 81 Question Id : 76285781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest number that exactly divides 119, 1015 and 2450 is:
Options :

762857321, % 119

762857322. ¢ 7
762857323, % 14

762857324, % 2450

Question Number : 81 Question Id : 76285781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IE I3 ¥ I &I AT AT, 119, 1015 HRX 2450 Fr quigEr Fsniaa = g

Options :
762857321. % 119

762857322 7
762857323, % 14

762857324, % 2490

Question Number : 82 Question Id : 76285782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
At what simple interest rate percent per annum will a sum of money ftriple in 12 years?

Options :
25
— %
762857325, % 3
25
—%
762857326, % 2
50
— %
762857327. ¢ 3
14
—%

762857328, % 3

Question Number : 82 Question Id : 76285782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraer gfcrera aftes FTURUT suTer Hr'&X W s Ay 12 a9 H TG99 & O IE @ e
Options :
25 4
762857325, % 3

25 4

762857326. # 2

50 §
762857327. ¢ 3



14
=0
762857328, % 3

Question Number : 83 Question Id : 76285783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the compound interest and simple interest on a certain sum of money at an interest of 10% per
annum, compounded every year for 2 years is 412. The sum of money is:

Options :
762857329, % 330,000
762857330, % 328,200

762857331, v 141,200

762857332, % 16,800

Question Number : 83 Question Id : 76285783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s ARTd 9 T 10% a1¥® =01 FT T & 2 99 H I g dlel Tehgie a1 AR TIR0T &1
TN HR 2412 §, FaTh O S 0T A1 Thgie HUR 9T & AT g1 YA AT P

Options :

762857329, % 390,000

762857330, % 228,200



762857331, v 341,200

762857332, ® £16,800

Question Number : 84 Question Id : 76285784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the area of a regular hexagon whose perimeter is 24+/3 em.
Options :

2
762857333, % 48V3cm

762857334, ® 48 cm?

2
762857335, % 16v3 cm

2
762857336, v 712V3cm

Question Number : 84 Question Id : 76285784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3H HAYCHS HT SFF AT H11aC, @ aR#ArT 2443 cm gl

Options :
2
762857333, % 48V3cm

762857334, % 48 cm?



2
762857335, % 16vV3cm

2
762857336, v 712V¥3cm

Question Number : 85 Question Id : 76285785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the area of a trapezium whose two parallel sides are 22 cm and 24 cm and the distance between them is 15 cm.
Options :

5

762857337, % 46 cm”
5

762857338, # 2064 cm”

-5 i |
762857339, ¢ 345 cm”

»
762857340, % 284 cm”

Question Number : 85 Question Id : 76285785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

36 HAGE TGS F ATHS AT T, FHEH & FAA AT Hr T4 22 cm AT 24 om 7 3R
3ok &= W g 15 cm gl

Options :

y 2
762857337, % 46 cm

y )
762857338, % 264 €m



2
762857339, ¢ 345 €m

’ i
762857340, % 284 cm
Sub-Section Number : 4
Sub-Section Id : 76285757
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 76285786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following groups represents only input devices?
Options :
760857341, % Mouse, Keyboard, Printer

762857342 ¥ Keyboard, Mouse, Joystick

760857343, % Scanner. Speaker, Monitor

762857344, % Monitor, Mouse, Keyboard

Question Number : 86 Question Id : 76285786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H W @I W HHE Fao SA9C BAEH F TERT Har 82
Options :

eass734] x FIBE, Frars, e




762857342, ¢ ﬁaﬁé, AT3H, ATIECH

762857343, % Fhe, = [, | AT

A~
C6ag57344, % FNGIER, ABH, HraE

Question Number : 87 Question Id : 76285787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which operating system is designed specifically for application with fixed deadlines?
Options :
160857345, % Multiprocessor Operating System

760857346, % Distributed Operating System

162857347, Real-time Operating System

760857348, % Desktop Operating System

Question Number : 87 Question Id : 76285787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaf@a & & #ia ar e faren, fver e saa-dmr & gy ey g Basa G
T B?

Options :



762857345, % HEHEET AR e

Refenes AR feen

762857346, *

762857347. ¥ Rarer-zrs# AR s

762857348, # %F:I—E‘I‘q H EIiiE? ‘I-'@RTF

Question Number : 88 Question Id : 76285788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CDMA in computer networks stands for:
Options :

762857349, ¢ Code Division Multiple Access

762857350, % Coding Division Mode Access
762857351, % Cable Division Multiple Access

762857352, % Code Division Manual Access

Question Number : 88 Question Id : 76285788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FTOE AcaFd H HEITAT (CDMA) 1 90T §9 #47 87
Options :




262857340, PIB TBAISTT AeSTel TFHE (Code Division Multiple Access)

FIfEeT Bf= Alg vAT (Coding Division Mode Access)

762857350. *

6ag5735] % P [BETEA AT TFAH (Cable Division Multiple Access)

62857350, % #15 3dee A3 tFH (Code Division Manual Access)

Question Number : 89 Question Id : 76285789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many layers does the OSI model contain?
Options :

762857353. % 7

762857354, % 3
762857355, % 4

762857356, % 9

Question Number : 89 Question Id : 76285789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTHEHTE (0S|) AlsaT H TFaar a7 gar 27

Options :
762857353. ¢ 7



762857354, % 3
762857355, % 4

762857356, % 9

Question Number : 90 Question Id : 76285790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following represents valid steps to zoom into a document in MS Word 2019, so that it displays multiple
pages in the window?

Options :
760857357  View Tab = Select Multiple Pages under the Zoom group

760857358, ¥ Review Tab > Select Multiple Pages under the Zoom group

760857359 % View Tab = Select Multiple Pages under the Window group

762857360, % View Tab = Select Multiple Pages under the Show group

Question Number : 90 Question Id : 76285790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Feafaf@a & & @le I MS Word 2019 # STog#e 1 §0 TR FF A & TEI TR0T J&3d T ¢,
T 77 e § #5299 =T &= a?

Options :
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762857360. *

Sub-Section Number : 5
Sub-Section Id : 76285758
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 76285791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She  afew friends who can help her.
Options :
762857361, % have

762857362, % had
762857363,  has

762857364. % has had



Question Number : 91 Question Id : 76285791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She ~ afew friends who can help her.
Options :
762857361, % have

762857362, % had
762857363, ¢ has

762857364, % has had

Question Number : 92 Question Id : 76285792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

My mother has become very weak and . is vulnerable to infection.
Options :
760857365, % Aalthough

762857366, + hence
762857367 % despite

762857368, ¥ Whereas



Question Number : 92 Question Id : 76285792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

My mother has become very weak and _ is vulnerable to infection.
Options :
762857365, % although

762857366. ¢ hence

762857367, % despite

762857368, ¥ Whereas

Question Number : 93 Question Id : 76285793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

Our teacher is showing a documentary film in the auditorium.
Options :
760857369 % 4 documentary film was being shown in the auditorium by our teacher.

760857370 % £ documentary film is shown in the auditorium by our teacher.



760857371, % 4 documentary film being shown in the auditorium by our teacher.

760857377 A documentary film is being shown in the auditorium by our teacher.

Question Number : 93 Question Id : 76285793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

Our teacher is showing a documentary film in the auditorium.
Options :
760857369 % A documentary film was being shown in the auditorivm by our teacher.

760857370 % £ documentary film is shown in the auditorium by our teacher.

76085737] % ‘A documentary film being shown in theauditorfum by our teacher.

760857377 £ documentary film is being shown in the auditorium by our teacher.

Question Number : 94 Question Id : 76285794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in reported speech.

I said to my friend. “Will vou be attending the meeting today?”
Options :
760857373, % 1 told my friend if he would be attending the meeting that day.



762857374, « | asked my friend if he would be attending the meeting that day.
760857375 % 1asked my friend if he would attend the meeting that day.

762857376, % | asked my friend if he would be attending the meeting today.

Question Number : 94 Question Id : 76285794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in reported speechy

I said to my friend, “Will yvou be attending the meeting today?”
Options :

760857373, % 1 told my friend if he would be attending the meeting that day.

760857374, « | asked my friend if he would be attending the meeting that day.

760857375, % | asked my friend if he would attend the meeting that day.

760857376, % | asked my friend if he would be attending the meeting today.

Question Number : 95 Question Id : 76285795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Parts of the following sentence are given as options. Identify the part that has an error.

I am looking forward to meet your family.
Options :
762857377. % lam

760857378, % looking forward

762857379, ¢ 10 meet

762857380, % your family.

Question Number : 95 Question Id : 76285795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of the following sentence are given as options. Identify the part that has an error.

I am looking forward to meet your family.
Options :
762857377. % Tam

762857378, % looking forward

762857379, « 10 meet

762857380, % Your familwy.

Sub-Section Number : 6



Sub-Section Id : 76285759
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 76285796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eld § ¥ dc8H U &1 =TT Hitad|

Options :

762857381, % TN
762857382, % I (e

762857383, ¢ TIFB

762857384 % N

Question Number : 96 Question Id : 76285796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ld § ¥ dc8H U & IhT i |

Options :

762857381, % TN
762857382, % I (e

762857383, ¢ TIFB

762857384, % N



Question Number : 97 Question Id : 76285797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wer foeis gom 1 =g fifsa
Options :

762857385, % =A==l

-
762857386. ¥ ‘EE

762857387, % YNeR-TeINIG

762857388, % POIL-HTae

Question Number : 97 Question Id : 76285797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e foes gow #1 =g A
Options :

762857385, % ATl

-+
762857386. ¢ ‘E[

762857387, % YNeh-TaINTG

762857388, % PO-HTE



Question Number : 98 Question Id : 76285798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frrafaf@a # & agar e ¥ fow 3T gadwEE &1 999 HEA)

Options :
762857389, % U

762857300, % 34t

762857391, * SAElY
762857392, ¥ 3ot

Question Number : 98 Question Id : 76285798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefaf@a & @ agar oeg ¥ v 3Ra e & aww Hfed)

Options :
762857389, % WU

762857390, ® 34t

762857391, # R
762857392, ¥ EEE



Question Number : 99 Question Id : 76285799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TaETa 9reg o1 foreT fauTT feeEr

Options :

o-l
762857393, ¢ =2

762857394, % SHTTET
762857395, % TAITCI8
_—

762857396. * =

Question Number : 99 Question Id : 76285799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TS oreg v forer v &ifeE

Options :

f.-l
762857393. ¢ 2

762857394, % SHTTeET

762857395, % E=Nnfe



e

762857396. ® 3

Question Number : 100 Question Id : 762857100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘AR AT HEER @ 3T Y Far g7 ey 1 3w Aifed

Options :

760857397, % IS AT FHLAT

762857398, # g T

gig BT Frar

762857399. %

ﬁga HAT
762857400. ¥

Question Number : 100 Question Id : 762857100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘IR FAAT FITR F 3= T FT g7 TET FeFeT 1 =TI A

Options :

760857397, % IS AT FHIA

762857398, * A |

gl @F g

762857399. # 2
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